
INEL 4075 Asignacion #4                              Semana del 26 de septiembre de 2011 
 
Nombre: _____________________________    Sección: _______ 
 

 
Figure 1 

1  Solve for the node voltages shown in Figure 1.  Then find the value of is.  
Determine the power supplied by the two independent sources. 
 
 
 
 
 
 
 

 
Figure 2 

2  Solve for the values of the node voltages shown in Figure 2. Then find the 
value of ix. Find the power absorbed by the dependent current source. 
 
 
 
 
 
 
 

 
Figure 3 

3  Solve for the mesh currents in Figure 3. Determine the power delivered to the 
15 Ω resistor. 
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Section 2.4:
'rP2.48. Write equations and solve for the node volt-

ages shown in Figure P2.4tt. Then. f ind the
va lue  o f  r r .

' t 'P2.49. Solve for the node voltages shown
P2..19.  Then.  f ind the value of  r . .

in Fisure

P2.50. Solve for the node voltages shown in Figurc
P2.50.  What  are the new values of  the nodc
voltages after the direction of the current
sourcc is  reversed'? How are the value s
related'?

P2.51. Given Rr :  49, Rz :  5f ,2.  R: :  l3S2
Ra :  lOQ.  R-s  -  2 f2 ,  and 1 . ,  :2A.  so lvc'  for the node voltages shown in Fieure P2.51.

P2.52.  Detenxine the value of  r1 in  F igure Pl  5 i
us ing node vol tages to solve the c i rcu i t .  Sc le i t
the locat ion of  the reference nctde to ut i i t r -
mize the number of  unknown node vol t i t ! 'e  r
What effect does the 20-0 resistance ha\ c ()rr
the answer? Expla in.

P 1 . 5 3 .  G i v e n  R t  :  1 5 Q . R ' :  - 5 Q . R r :  l { ) Q  1 i -  =
l0  Q .  Rs  :  8  f ) .  Ra :  4  S ) .  anc l  1 '  :  i , ' \ .  ' r ' l r  -
for  the node vol tases shown in F ieurc I ' l  : :
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